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weston Nos. I to 20 are Short

Quest - Answer Type. Answer any 10 guesSons.

suestion carries 2 marks - 1I0x2=2
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1. mfi-ﬁ—h""aﬁf(x)=x+7,xeﬁ?%$3i3:é’ﬁﬁ%?mil

Is f:N> N where f(x)=x+7, xeN an one-one into function ?
reasons.



T NN T8 f(x)=x+7, xeN % FaSfi sH 2 s 2
Is f:N> N where f(x)=x+7, xeN an one-one into function ? Give

reasons.
2. TEHd 999 9l TREE T SOEw S 9 3

Define symmetric relation along with an example.
3. m‘ﬁﬁ fR—)RSBWRM%% f(xjazz-:-lﬁﬁxe}?ﬁ}
7)) = 98 @ =1
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find the value of f~1(17).
mh%mﬁM%@QRRWM' R -
¥ qRwied 8 a*b=a+b-ab, mﬂa,bere s TRed &
mﬁﬁmtl

Let a binary operation ' * * is defined on a set Q of all rational numbers
follows as a*b=a+b-ab for all a,be R, then show that ' * ' jg

commutatuve.

ran"(—jlg] &1 &7 9 1@ &K

Find the principal value of tan™ (- 13] .
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Rind the value of 5 sin (

- l —— 1.
Mrove that tan l-—2 4+ tan 3 2
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Construct a a, , 2 matrix where¢ .aij =1+4]"

4 2 - 3 2 -2|a@ 3A-2B &1 7 e |
# “ﬁ“[s -3 -4]“‘"3“_3 3 5
49 2 - 3 2 3| al £
If A= - then find the value o
J [6 = -4:’&"‘18_83 5
3A-2B.
10. zr&["a‘f 2{;3]{2 _s]a‘tx,yamzanmsrmﬁl

rf["'z 2y‘*:"’]=[g _g] then find the values of x, y and z.



If [x3;2 2{ ;3 J = ,_g : g J then find the values ot X, y ana z.

11, fig ¥ P sgaeem wiga de N Ranurd s i 2

Prove that subtraction is not a binary operation on natural num

12, framt f5 R on @ X & RIC ax 0 F SR R

Show that le- is the inverse of a# 0 for the multiplication op

'X'in R.
13. T % f:R—R ATBICH o § Ta@I% f(x)=4x ? THRW @]



w FiL2,3) 5 [121/327 )
.f(l)-x.f(Q)-y’ f(s),z mﬁmw
waﬁwﬁmrlmﬁl
COI’lSider f :{1’ 2’

3}"{X,y,2} given by f(1) = x, f(2) =Y,
f(3)=2 and find -1

15. qﬁ Sin-l S |
| x+smy=2§£acos-1x+cos"lyﬂmmﬁl

1

If sin~! =1 _

3 then find the value of cos™
16. RE= 5 2cos! x

1

=cos!(2x%-1), = <sx < 1.

J2




17. wWam & fd : tan1| [1-080 | qg o< <.
| Y1l+cosHO

Write in the simplest form : tan‘l( Jl — cose} when 0 <0 < =
1+cos®
18. ﬂﬁ cos (—-5-) A tanAmﬁl

If cos™} (— %)= A then find tan A.

3 4 -
19. uﬁg L 2}'«113{_3 g ;]a‘tAB maail

3 4
I A={§. 2-\ and B=L'ﬁ =3 4] then find aB.




3.

Z .
19. 3Rk A= \ :\m Ba[_ﬁ ~a g]a’tAB 1 H|
3 2| - 2] _,
2 2 -3
If A= andB{ B ] then find AB.
3 5 4

20. 3R 2P +Q + X =0 w&l P={*é %]31‘!1 Q=[3 "2]?hxmaai|

1 2

If 2P +Q + X =0 where P ={_3 4] and Q = [3 "5] then find X.
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5 % FyiRa # : 4x5=2
Question Nos. 21 to 28 are Long Answer Type Quest[ons Aﬂswer an
4 questions. Each question carries S5 mdrks : 4 xG=Ll
21, Rg=ife 1 3_,..-163
sin~ — e s
Prave that ein™} —§-+COS 9.— an"l- -16"2‘.



22,

23.

24.

13 -1 0o

g=tan 7§ |
=| sx-2| @ gof T fog Prepret

Prove that sin"'.'l -1%- +COS™

R f(x)=| x| 7@ g(x) .
If f(x) él x| and g(x) =l 5x -2 | then ﬁnd gof and fog -
tan™! 2x +tan"13x-=‘-;5 ! 7 B

- =] _=
Solve tan~!2x +tan™ 3x = 7.

' s HX
sin(2tan”! 32; ) +cos(tan™! Y3 ) F1 7H A

-~ lﬂ&..'....-l 2 \ .l_nnu.{i'nﬁ-l .E ‘.




24. sin(2t:an'l -g-)-i-cos(tan'l J3 ) &1 HF AT hi

Find the va.lue of sxn(Zl:an"1 2 ) +cos(tan -1 f-,)

25. fug ¥t f& quist & &q=a Z § §€Y R={(a, b): & 2, (a-b)iﬁ’l
mmt}mgﬂmmtl

Prove that in the set Z of integers the relation R={(a, b): number

2, divides ( a- b) } is an equivalence relation.

7] ‘ .




26. A& BEA f:R- R, f(x)=4x+3 e =]
2 A e T R

If a function f:R— R is defined as fix)=4x=3 then TrTWS TEC

invertible. Find the inverse of f.

1 0 2 :
27. TR A=|0 2 1\‘@(&@:&& AS AL +TA+2A=0.

1 0 2 |
0 A.‘n 2 1-\ thennmveﬂ\atAa-G.‘\a+‘?A-‘-.~‘2ItQ~
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UTehd H&AT3 o Tz N H dchel
(TIETT) Ueh TS MUt Tfchar Al & eiich
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: 1.
Tah T3t Ifchar, S9T foh 919 @ udT
TTdT &, & dcdl UR i el & 3R
gRUMH i I =g | g1 318yl
OTehd H&AT3Tl ohl =g N = {1, 2, 3, 4,
..} 81 519 8H & UTchd T=ATST <l T
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gidT 81 I<Te0T o fog, 2 3R 5 i
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ok FHUTTcHh TAT § 3R UThd T&AT
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23 an‘1 ?.x+tan—1 3x-—-— E’t 'Hta aw’rﬁﬂl
T T e w;% ﬁ ;tan.,‘l 2_x:+tan‘," 3= Z» |

. o B =1 PN S RO
e owlEE)

RS . st“_ tan = =1
- 1-6x 4
by 6x2 + 5x — 1 = 0 ¥l (6x——1)(x+1) 0

e W o @ fw ‘x=é~'q1x..-1

FifH x= -lmwwm‘m@qﬂﬁm% wifeh x==~1 9 -

= 9 v B S S m:mmw'wm-x=—6%l



28 wfsu ﬁs sin”! = ~gin” -ff—,——cos-' 84

85

s'amaa’rﬁfq rw sin .g’.. <3 3-31 S;*— B _‘
‘ 17 =l P
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cos -y.':-:‘:"\ﬁ‘j—%_sihz’yf-':‘- h

cos (x y) cosxcosy+smxsmy
4X15+3 8 84.

A % 8 17 5717 35

—y -- COS (84)
| 85

-.-13 | -'-18" 184 .

~ —sin~ — cos ol BTy

| 5 ‘ 17 85 ' \&5: 3 G



